FERINZ / Components
No. 2 / Part name = / Pcs #E / Material £ - REWLHE / Color:Finish
to[Pr—=4 4 7 ILSHREH A6063S-TS SILIN—, TF9Y - FIRAL & DT B
Frame Extruded aluminium A6063S-T5 Silver , black = Anodized & clear coated
o 2 |[a—F—TJovsy 4 ABS#HE UL94HB SANL—, TS5vH
Corner block ABS UL94HB Light gray , Black
3 |a—7F—*+vvy7 /Blind plug 8 ISRLY /TPE FANTL—, TV
Light gray , Black
4 | NAAHINFIL / Slide panel 1 7 IJLEAR / Aluminium A1100P t=1.5 DIWIN—=T LAk / Silver + Anodized
7 JLEAR / Aluminium A1100P t=1.5 ISy + F¥ / Black * Painted
5 RALCLEEH/SRJL / Screwed panel 1 7 ILZ#R / Aluminium A1100P t=1.5 S IJLIN—=TF LAk / Silver * Anodized
2 7 JUEHR / Aluminium A1100P t=1.5 T5v% - B / Black - Painted
2 6 |HMER (Max 15 F) 16 % ={fioOA—k
Screw (M4 — 15 Pan head) Steel Trivalent chromate
7 INRJLEFTE R(+FREBEAMS x 5) 4 E5S S AvE | ZlE/RA—k
\ Screw(Original trapezoid head M3 - 5) Steel Nickel plated , Black trivalent chromate
8 [/\YRJL / Carrying handle 1 7L EH A6063S-T5 EZRTSVITILIA b ALZRH D JLN—T LA+
Extruded aluminium A6063S-T5 Silver , Black = Anodized
9 |[ERfTEX (M4 x 10 F_SWHT) 2 % =fiyai—k
Screw (M4 - 10 Pan head with spring washer) Steel trivalent chromate
7

v

4 /Title
BRAIHIDTFERIR NURLav kA= LRy R O]
_ TAKACHI ELECTRONICS ENCLOSURE CO., LTD. CONTROL BOX with CARRYING HANDLE RE/Scab
EHEEEREL) / Color Type(End of product numberL]) & 8/ Approved & /Checked #1[X]/Created B F /Product number
i85 / Code | /\#)L / Panel |ZJL—L / Freme | 3—7F— / Corner I\NVK )L / Carrying handle FCH8-35-3001]
GS < )LsN— / Silver < )LsN— / Silver 54k L— / Light gray < )L/\— / Silver EP*E x EP*E 1/5
BB I59% / Black J59% / Black 597 / Black 559% / Black fEpLE/Date  2023/09/07




L —L348l / Frame3 side

29.7

300

JL—L 148l / Frame1 side

350
126.5

= B

|
| A
|
|
|
|
i | |
] L
<— B
JL—L218] / Frame?2 side
A-A(1:35)
INAAFHINRILER~T % / Slide panel MAX dim. 310
Bxh~t% / MAX dim. 304
N
i | | ® @® | i i R

REEDH/NRILEHTiE / Screwed panel MAX dim. 313

- 1:3.
TL— L4148 / Frame4 side B-B(1:35)

E#~ti% / MAX dim. 69

75.4
13 38.2
o
©

ﬁ-
< 'ﬁ m r

2 £ [ =N
o)

£ X

e

< =

< K]

= g

2 -

- 2

3z o

5 3 3

~ = ~

wWo #H

+ W 1

Rk =

T ® T

2 ' =

N N

o o

g £

< = ] |

A 2 xlo gl"

< g N r\;

C: 7L—LYEKE / Frame cross—section

+wkL—JL / Nut rail
ATZAEFyhEiE

AFTATav i RSAR Uk FZ-3 ZANDENHEKFETS,

Groove for slide nut

Slide nut FZ-3 (sold separately as optional parts) can be inserted.

& /Title
BRARUINFERTE NURILAAU R E— LRV SR O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. CONTROL BOX with CARRYING HANDLE
R/ Approved %X /Checked #IX/Created R /Product number RFE/Scale
FCH8-35-300] 135
¥ iR 9 /5
{ERL B /Date 2017/05/23




4.05
1.2

18.1
8.7

18.1

8.7

2—¢4.5
1] 0]
I |
e S ——
120
19.7
13.7 L —L\1 / Framel
8.2
304
= % ™~ é =
| I s
[/ ]
/| '8 < ~ ~ :
| 57 g ) ) fg
5\\| 7
1, <

&
i

N

ne

13.7 4-M4
22.7
< o o
FwkL—JL / Nut rail
2-M3 5 294 5
: | s L —1\2 / Frame2
5)
I i
e — J
fnd/Title
TAKACHI| #RXettshFEHTE TU—L1 .2 O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Framel, 2
R/ Approved %X /Checked #IX/Created R /Product number RFE/Scale
H75.4 — W350 1:2
P T thiR 3/ 5
YERE B /Date 2017/05/23




18.1

18.1

8.7

8.7

4.05

19.7

4 | 137

8.2

1.2

1.65
&
14.7

QJ
/| 1.8

56.74

<
| 57 &
o
G4, ~
O
< 9 137 4-M4
22.7
FvykL—JL / Nut rail +
q_ w
2-M3 5

244

QJ

[2)
4

L —.L3 / Frame3

254

—

JL—.L\4 / Frame4

ol

e e, p ppe e e \ y$p i iennnnmn nnoo
fi : |
-

ma /Title
BRRUINTFERTE JL—L3 .4 O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame3, 4
R/ Approved %X /Checked #IX/Created R /Product number RFE/Scale
H75.4 - D300 12
x 18 . .
{ERL H /Date 2017/05/23




INAAFHINFL / slide panel

BHahtik / MAX dim. 310

BE~TiE / MAX dim. 260

I\ JLFE /Panel Frontside

RC1EH /AL / Screwed panel

Ba~Ti% / MAX dim. 304

(—o—
i
<
[Te]
N
£
o
>
<
=
~
#H
1
R
T
|
\—9—

/I\AJ)LERE /Panel Frontside

RE—HA

Surface protective film side

1.5

REES —MA

Surface protective film side

321.9
|
|
|
|
52}
| _ ~ N — — — + — — — — N
N
|
|
|
|
/N JLEME /Panel Backside
3215
4-24.2 294
|
(—&— —?—\
|
|
|
|
2 N
N
|
|
|
|
\_ + + /
/\AJLEME/Panel Backside
fnda/Title A —
TAKACHI| BXEHANTFEMTE RES O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
A& B/ Approved 18 &/Checked #[]/Created & /Product number RE/Scale
W350 — D300 13
iR s iR 5 /5
{YERL B /Date 2020/07/08




	FCH8-35-30.pdf
	シートとビュー
	FCH8-35-30-モデル





